N/1C =34 OT10
A | E = % | BBiEH U= == =] :
1 NIISvA> H= 2 | 2 s
2 FAUDDAT—Y |IRHEE | 61.8 1 1 2
3 HIPERARE A. ¥1 574 | B B | 3 | 3 5
E ELRITS—) R — 55.8 BB 5 | 5 w | 3
5 39T o7 b SR EZ 55.6 C| C| 4| 6 | 6
6 LA H5UA EHiEtl | 53.1 | D | D | 6 | 4 4
7 Ab—=hLbL—> =1z 51.4 E | E | 8| 9 9
8 | LU USHNDFARA |EZH 47.6 ERNEN 7 | 7 7
9 FL4FIIZVIA |EHEXR | 44.1 F| E| 9| 8 12
10 W PA DY —F14(5R | FEh F |10 | 11 8
11 EISVAOR  |IEHE | 34.8 F |12 10 11
12 FA5¥3] =i 11 | 12 10

IhmE

----- 4 ¥360 515 2-4-5 ¥1,340
=3¢ 2-4 ¥350 : 4-2-5 ¥4, 870




R
-

!
11

(&

i
TN

1 FAY—4 Ak 3 | 3 % | 10
2 N EVAMNWYYY |A. Y2 57.5 1| 1 6
3 ) VPSS ImHIRE 57.4 B B | 2| 5 7
4 1) w kil EHEE 53.6 C | C Mg 6 |
5| 1 |[A>39N5) = 53.5 C | C ep—y 2
6 HphJAEH HOSX 52.5 B E | 5 | 7 5
7 L LFAIVA M.5hA | 471 | F | E | 8 | 8 4
8 ':* JRYT7—) |ZEEm | 466 | F | E |10 9 x| 9
o | |TN—=>J0-X |k~ | 456 | F | F 4 | * 1
10 PR \-=-Zne— |=m=mg ' 10 8
I
9 ¥550 1-3-9 ¥4,350
1-9 ¥1,930 9-1-3 ¥26,200




IIII

(&

n
TN

1 A4tEAUINE  (IRHEE 1| 1 1
2 5 Pl R — 59.8 3| 2 | 4
3 | 1 (UhShOR HOSX | 574 | B | C | 4 | 4 % | 3
4 SISy H— EHEE | 56.8 | Cc | Cc| 2| 3 2
5| 5 |[NFIJ1TAH EHiEtl | 55,0 | C | C | 5|5 | % 8
6 t1I99Y+ = 433 | E | E | 6 | 6 % | 5
7 IJR$= oL, a F | 8 | 8 6
8 VM —h3—R |RList 7| 9 9
9 hISFPyH A = HiR 9 | 7 10
10 |F =R JUJSESR FERA 10 | 10 7
IhmE

10 ¥200 1-7-10 ¥950

7-10 ¥470 10-7-1 ¥2,770




/16 =3men [RPTE
IE EE4Z == 2 BBISEy | &t ik = = N2
1 AMLZ EMZE | 649 | S | S| 1|1 x| 2
2 | 1 |I3VPNTARY |RE 60.7 | A | A | 2|2 1
3 |N|EroOvy—  |EEEEM | 475 | c | cCc |3 |5 6
4 N SVF—ANAY |IRHIEE | 436 | C | C | 4 | 3 % | 4
5 #-fvabw; mHEH | 426 D[ D | 5 | 4 3
=N TY-bRY—- | BisERR 1407 | E | E | 6 | 6 % | 5

1 ¥300 [E:ES 1-2-5 ¥500

1-2 ¥240 [l 1-2-5 ¥2,020




BBIE® #8H 84S C £ =

KePyvy (% | 666 | S |8 | 1| 1 x| 1
I35 =H#z | 566 | B | B | 3 | 3 9
N7>O0973h— SHEE 53.7 P 2 | 2 11

4 BISEY) HE— | 534 | c|c| 4|5 2
[NgSU—nor |EftEm | 528 | D | D | 6 | 4 3
SN IZA-54YYT | SHE 479 D | D | 5| 9 % | 8
11 EXZFINwA; =123 0 47.0 | E | E | 8 | 6 % | 5
9107594 HOSX | 47.0 E D | 7| 7 7
VOIIZNDA  |BEDEE | 44.9 E| F |11 |10 6
447 | F | E | 9 | 8 4

F | E |10 11 10

3818 4-5-6 ¥2, 590

3EH 5-4-6 ¥8,900




(&

n
TN

1 IJI4h oLtz 1| 2
2 J—=Yh HOSX 63.0 2 | 1 7
3 FTYHh—JI1I4 A =y=f: 59.2 £ | WPy
4 NI =Hikz | 58.0 ERle 7 | 9 10
5 T4I14b =¥ 1= 55.9 B 10 | 7 5
6 ETS 14 RAN EHEE 52.9 F b 5| 5 * | 15
7 EARVK—4 (M. 5h | 484 | E [ D | 6| 6 | % 6
8 yIAF4vF |dHE— | 479 | E | E | 3 | 3 3
9 n h—-NAF—k  |wEHiEt | 476 | E | D | 8 |10 x| 7
FPIvhI3> =Iuhf 45.9 F | F |11 | 8 4
F—T75914 A JIIZARE 45.5 F | F | 9 |11 13
VLI AAT S |iRhiE 43.7 | F | F | 13| 14 &
AI—39 ETAEAX | 43.0 F | F |15 | 15 11
A1F9427 REE{— 36.6 14 | 13 12
15 BETZOISIIT T J 12 | 12 14
N
8 ¥680 [Y:L:H 7-8-12 ¥3,660
8-12 ¥1,140 [IEL: 8-12-7 ¥25 750




ITH
11

(&

.|
[
L |

1 A4 b=vhk IRFEE 1| 1| o0 1
2 Ly RUX)ILS HOSX 61.4 2 | 2 wo| 2
3 I3—HINI NiEXE | 574 | B | C | 3 | 3 5
4 AP k& — | 53.7 ERNEN 5 | 5 % | 4
5 bILYYF M. Th 519 BN C | 8 | 7 % | 6
6 [ PHFIRIVAYY |FEEH 504 @ E | 7 | 10 10
7 BN ASTIR A. ¥1 49.7 | D | D | 6 | 6 11
8 JYNFT mAiEl | 47.1 | E | D | 4 3
g hLoRYIFAh  |BEER | 44.3 E| E 10| 8
O-KIvRAT(RA |RE#E{Z | 430 | F | F | 12| 11 12
11 | 1 |TAIAY=RA5— |(EHER 414 | F | F | 9| 9 7
12 ANAkoI5— |=REE F| F |11 |12
IhmE
2 ¥290 2-4-8 ¥1,230
2-4 ¥480 2-4-8 ¥4,130




n/1¢ =31 0R [RE
E == 5 = B Big & e == [ = NE
1 | 5 [FvoRIboRI) | SHEXE 1 1 | 2
2 AMA—=TF7I—-X |IRHMEEE | 57.5 L . * | 3
3 R13YTA-—  |KE 56.2  cCc | c [ 3| 3 1
4 R ANLY———v EESE | 51.2 ERNEN 5 | 5 5
Ll 9 LYV, SE AP 4174 BENEEN & | 8 6
6 AFWANR—T uLiseE 46.9 ENNEN 7 | 7 8
7 1= A-5 |EHE 45.3 E| F| 6 | 6 4
8 miliEth | 427 | E | D | 4 | 4 % | 9
=HEz |34 - ERE 7

¥560 2-4-5 ¥330

¥420 4-5-2 ¥2,930




5 | B E & = BB B = | L =)
O-RFIJL—-) |FEHh 1| 2 7
Jivo4y5Lh |BEHRFEH | 600 | B | B | 2 | 3
F1YIAN IRHEE 58.9 £ | S
JuL44>90—-> EHE¥ | 56.1 | D | D | 5| 7 10

6 RIS EOsEx | 553 B E | 4 | S5
10 ADr24Y. Y k| 53.8 DD 7 | 6 | & |
- Z2R-MAR (R 523 |E |E | 6| 4
8 (J3T17A k% — | 52,0 | E | E | 9| 9 | % 1P
S HZ20-bIL (BulissE | 477 | E | E | 11| 10 #
LY =R 42.9 F | F |14 | 11

11| 1 |\J7P52  |@ESE& | 424 | F | F |10 12

UE ok | JIARE 42.2 F | F | 13 | 14 13

2 RN M. ThA 37.2 F | E | 8| 8 11

R A230RE30 | AEFEN 12 | 13 14
IhmE

A% 11 ¥330 11-13-14 ¥1,690

EE 11-13 ¥1,050 11-13-14 ¥8,250




R
-

!
11

1

n
TN

1 WIAATA—I, | iEchig B B | 1|1 Jr—
2 V=774 F) |IFHIEE B | B | 2 HeiH
3 JED. =mek | 582 ([ c|c| 3|2 14
4 ARSVINFON— BEBHiEH | 556 | Cc | C | 5| 3 * | 3
5 TL3A-=Y =¥ 3= 55.4 D | D | 6 5
6 PyF>17U—-h M. FA | 548 [D cCc | 7| 4 4
7 O0—-FAE=>J |A. 31 545 NN 4 | 7 10
8 wwn—m BEASA | 514 | E | E | 13| 10
9 | v HOYREVE-A |dERE— 49.4 F F | 11| 12
10| 9 (W7N == 520 187 [EREEE s
11 [ tyF409 St F B 10 11
12 PO A-2Sxvy—F |=@ER F|F|1a]11 "
13 | 8 [JUVERNLY =X F | 12| 6
14 BED FANVT1—)) | 9 |13 13
15 B va3n LTS 15 | 14 12
I
13 4-13-15 ¥3 150
4-13 13-4-15 ¥21,120




